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TOURISM ADMINISTRATION AND MANAGEMENT
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following tourist typology is given by Dalen (1989) ?

(1)
2
3)
4

Wanderlust, Sunlust
Modern Materialist, Modern Idealist, Traditional Idealist, Traditional Materialist
Adventurous, Worriers, Dreamers, Economizers, Indulgers

Romantic gaze, Collective gaze, Spectatorial gaze

2. Which of the following statement is true for Adarsh Smarak ?

(1)
2

3)
“4)

They are monuments with unique architectural features.

They are ASI protected monuments included under pilot project of Ministry of
Tourism — Swachh Paryatan Mobile App.

They are the most visited monuments of India.

They are the monuments included in the UNESCO World Heritage list of India.

3.  Out of 11 different leisure needs proposed by Kabanoff (1982), which one of the
following includes the first four leisure needs in the correct sequence ?

ey
2
3)
“4)

Relaxation — Family activity — Interaction — Stimulation
Autonomy — Relaxation — Family activity — Escape from routine
Health — Esteem — Relaxation — Stimulation

Escape from routine — Relaxation — Health — Interaction

4.  Which of the following formula is used to calculate the Gross Travel Propensity ?

€]

2

3)

4

Paper-I111

No. of population taking atleast one trip o

Total population 100

No. of Total Trips

Total Population x 100

No. of population taking atleast one trip

Total Population

No. of total trips

365
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5. Which of the following is predicted by UNWTO in their vision 2030 ?

(a) International Tourist Arrivals to reach 1.8 billion.
(b) International Tourist Arrivals to increase by 43 million a year on an average.

(c) Emerging economy destinations to surpass advanced destinations in 2015 and by
2030 their share is expected to each 58%.

(d) North-East Asia will be the least visited subregion in the world.
From the above prediction :

(1) only (a), (b) and (c) are correct.

(2) only (b), (c) and (d) are correct.

(3) only (c) and (d) are correct.

(4) only (d) is correct.

6.  Travel Advisory issued by a government for its citizens leads to what type of demand for

tourism ?
(1) Effective Demand (2) Potential Demand
(3) Deferred Demand (4) No Demand

Read the following paragraph carefully and select the answers of the questions given below
from7to 11:

Cultural values are to be preserved, for life to have a human meaning. Becoming, over many
centuries and places, has established the founding roots of bio-ecodiversity for human cultures
as well, which are the most genuine embodiment of immaterial values. The impact of ethic
groups, beliefs and imported lifestyles and cultures has developed into colonial, utilitarian
geopolitical set-ups, destructive for preminent congenital values (African and South-American
countries). The recent history of the European civilization has developed at varying rates, since
the transfer of immaterial values has been distorted by all-invading rationalism and insensitive
technology.

The human time of “knowing how to be” has been ostracized by that of having plenty of more
and more alternative things. Now, the past must be read in the continuity of the present, even if,
for the advancement of science, this is infused with the future. Humanity is waiting for new
cultural developments, running towards the sources of life through the perception of the sense
(expressions) the memory of the immaterial (values), the images of places (signs). To preserve
this understanding, experiences and conditions drawn from innate immaterial values are
presented — with the nature of the sites and the shapes of the monuments in Guatemala, Japan,
Malaysia and Africa.

7.  Cultural values are to be preserved
(1) for enjoying and playing (2) for life to have human meaning
(3) for enjoying material life (4) for following spiritual life

8.  The founding roots of bio-diversity for human cultures have taken the time span such as
(I) Ten centuries (2)  Unlimited centuries
(3) Fifty centuries (4) Limited decades or centuries

Paper-111 4 J-93-16



5. JUASTYAIM. & oo 2030 H 96 §RT Fefafad § & SH |1 QaiHe T mr § 2
(a) SR Tdeeh 3T 1.8 Taferas deh ug |
(b) IR TFesh NHA | S Uia o 43 fafers o gfg gt |
(c) T2015 T SURAT g% STIHITR e S~ el ¥ ST Hehed ST 3T 2030 T bl
e ATRY 58% T UgT T AR E |
(d) ST URTET §HET H Gl Y AT AT ST STelT SUe e |
SR A I
(1) & (a), (b) 3R (c) TWIT |
(2) e (a), (c) AR (d) T E |
(3) A (c) AT () T |

(4) oot (d) W |

6. WHR TN AT AR o [T SRI AN GUHST ol G2 o HiTT 9T fohd ehTY sl IHTel TSl & 2
(1) v | (2) gifed |
(3) TR " (4) IS AT T

FrefafEd =% ot SmYae Uieu 3R A ST M0 we=i 3 3T 1 98- ST : (T 9. 7 — 11 Th)
“FRH s Tedl T A 3 U7 Siie o feTw SRie fohar ST %@t ¥ | Sgd 9 v 3R
Tl ¥ A G & felt Sig-miRiefdent fafaea s go7 STel ot Tnfya foar ST g &, S 39 are
& 3T ool T Tt (oelg g 9 & | Aiqies T6el, faverdr $iY statad Sta et e dwhiaat
% T | SUTETTeR, SURTATENRT, RIS eaestl i fashiad #d gU 9t st Jodi (3R
3T TRRTOT-3TTehT 2T) T FoTeT Tohar & | TohalTg 31X STHaR-Ier dehrieh o Uil MaeT o gRT 37
el & Uie ol g he & a18 |, JRIUE W] T I et IRedt 1fd § foshiad gan & 1”

e @ Afueh dehfotsh SRall 1 W i i 81 % WY “qg ST {6 % BT o A= S)
T SRR ohT 31 T & | 379, 3l ol IaHM I (aRdl & |19 9@l STHT 96T, 9ol &, fos &
S & fetu, it g8 wfee ¥ S[er & | IHadr Adi- Hihiaeh faehrdr sl Teiel T @ & S s1iyeafer
o U] T, 3T (o) o TROT, Tl (eliehi) i Sfadi o Areqq & e & @i i G907 7 SHRR &
W E | T e ¥ S 39 T, 3Fval 3R Feafadt whl WRida T % o 5 el @l whia 3R
TCHTEAT, ST, TEATSTET ST STl H TR o 3THR o T W& o ST ¢ |
7. TiEpide ool T Tt fohar 5T @1 €

(1) 2T 3R T o el (2) AHEE 3§ Yot e & ferw

(3) «iifaes Sfeq & g & feg (4) EATCHS S T STE0T i & fow
8. MY Al % foIT Sig-fafaedr @ go7 Ste Fefeiiad 5 @ T q9ashreT of 9! § 2

(1) =9 remiesam (2) e wrtear

(3) U dIfsar (4) i <9k v vdTsar

J-93-16 5 Paper-I11



9.  The method of studying the past should be
(1) in the continuity of present
(2) inisolation of past
(3) inrelation of future

(4) in the light of legends and sooth-saying

10. Point out the regions which have imported life styles and cultures
(I) Africaand U.S.A.
(2) Latin America and South-West Europe
(3) African and South-American countries
(4) Switzerland and Sweden

11. In addition to the above cited regions there are other countries where the imported life
styles and cultures are traceable and visible, select those countries from the following :

(1) Denmark and Sweden (2) France and Pakistan
(3) Pakistan and India (4) India and Spain

12. Which State in India one shall be travelling to, if following are the highlights of an
itinerary ?
o Visit to the living root bridges of the Ficus Elastica tree.
. Interact with War-Khasi tribe
. Visit to Mawlynnog, the cleanest village in all of Asia.
(1) Assam (2) Manipur
(3) Mizoram (4) Meghalaya

13. In the questions given below there are two statements, one labelled as Assertion (A) and
the other labelled as the Reason (R) :

Assertion (A) : The longest-living lakes (Lake tourism resources) on earth are related
to tectonic processes.

Reason (R) : A tectonic uplift of a mountain range can create depressions that
accumulate water and form lakes.

In the context of the two statements, which of the following is correct ?
(1) Both (A) and (R) true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) true and (R) is the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Paper-111 6 J-93-16
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14. Match List — I with List — II and select the correct answer using the codes given below the

lists :
List - 1 List — II
(Regional Dish) (Regional Cuisine)
a. Luchis 1. Bihar
b. Dhokla ii.  Gujarat
c. Litti iii.  Bengal
d. Payasam iv. Tamil Nadu
Codes :
a b c d
(1) i i1 i iv
2) i i v i
3) iv i il i
4 iv i i ii

15. The key features of a Twin Room include.

(1) Sofa cum bed (2) Cabana
(3) Two single beds (4) Extra bed for child
16. Match List — I with List — II and select the correct answer using the codes given below the
lists :
List - I List - II

(Tourism/Hotel Term) (Description)

a. Franchise 1. Either ownership or right to occupy and use a
vacation home for a specific period of time.

b. Referral ii. A contractual agreement providing for the use of a

Organisation recognised brand name, access to central
reservation system, training, operating procedures,
quantity purchasing & technical assistance in
return for Royalties and fees.

c. Time share i1 Operating  agreement  with ~ management
companies to conduct day to day operations for a
specific property or properties.

d. Management iv  Associations formed to conduct advertising and

Contract marketing programmes and generate reservations
and referrals for member properties.

Codes :

a b c d
() iv il i i
(2) iii v i ii
3) i v i il
4 iv il i il
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17. Match List — I with List — II and select the correct answer using the codes given below the

lists :
List -1
(Term)
a. A’la Carte
b. Curator
C. Docent
d. Table d’hote
Codes :
a b c
() i v i
(2) iv i il
3 i v il
@ i i iv

1.

il.

1il.

1v.

11

i1

i1

List — II
(Description)

A French term referring to a menu offering

a complete meal at a fixed price.
Person incharge of a museum
A museum guide

A menu in which item is priced and

prepared separately

18. Match List — I with List — II and select the correct answer using the codes given below the

lists :
List - I
(Company)

a. McDonald’s
b. Barbeque Nation
c. Baskin-Robbins
d. Amul
Codes :

a b c d
(1) i il i iv
(2) i i v i
3 1 i v i
4) i i i iv

Paper-I111

List - II
(Description/Category)
1. Dairy Products
ii.  Fast Food Chain
iii.  Restaurant Chain

iv. Ice-Cream Parlour
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19.

20.

21.

22.

Match List — I with List — IT and select the correct answer using the codes given below the
lists :

List -1 List - II
(Name) (Descriptor)
a. Manyjit Gill 1. Journalist & Food Columnist
b. Prithvi Raj Singh Oberoi  ii. Chef
C. Vir Sanghvi iil.  Nutritionist & Hospitality Educationist
d. Thangam E. Philip iv. Hotelier
Codes :

a b c d
(1) v i odi i
(2) i v i il
3 1 i i v
4 i i i v
Match List — I with List — IT and select the correct answer using the codes given below the
lists :

List - I List — IT
(Hospitality Unit) (Description)
a Taj SATS 1. Luxury Resort

b The Oberoi Udaivilas  ii.  In Flights Catering Services
c. Taj Rambagh Palace  iii. Tree House Resort
d

. The Machan iv. Heritage Hotel
Codes
a b c d
(1) ii i iv il
2) 1 i il v
3) i 1 v il
4 i il i v

The Oberoi Group of Hotels was founded in the year
(1) 1914 (2) 1924
(3) 1934 (4) 1944

Which of the following are indicators of airline performance ?
(a) Load factor

(b)  On-time performance statistics

(c) Revenue passenger miles

(d) Sharing resources with other airlines

(1) only (a) and (b) are correct.
(2) only (a), (b) and (c) are correct.
(3) only (b) and (c) are correct.
(4) only (b) and (d) are correct.
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23.

24.

25.

26.

Which of the following luxury trains is a venture of Maharashtra Tourism Development
Corporation and Indian Railways ?

(1) Mahaparinirvan Express (2) The Deccan Odyssey
(3) The Golden Chariot (4) The Maharaja Express

Which is the world’s largest cruise line ship ?
(1) Harmony of the Seas (2) Freedom of the Seas
(3) Quantum of the Seas (4) Explorer of the Seas

Match List — I with List — IT and select the correct answer using the codes given below the
lists :

List - I List - IT
(Cruise line) (Headquarter)

a Disney Cruise Line 1.  Malaysia

b. Royal Caribbean International 1.  Germany

c. Star Cruises . U.S.A.

d.  TUI Cruises iv.  United Kingdom
Codes :

a b c d

(1) iii il i iv
2) i i il v
3) iv i i il

@4 1 v i 1

Match List — I with List — IT and select the correct answer using the codes given below the
lists :

List - I List — II
(Airline) (IATA Code)
Qantas Airways . NH

Finnair i. AZ

a
b
C. All Nippon Airways  1ii. QF
d

. Alitalia iv. AY
Codes :
a b c d
(1) iii v i ii
(2) i il i iv

3 v 1 i 1

4 1 1 - iv
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24.

25.

26.

frfafad & 9 ®F 9 Aol 27 HeRT 932 faem i yrdig Yo 1 SEm § 2

(1) HemRFeTT Tepd (2) T SHH IMifedl
(3) T e INEe (4) T TERST TN
T 1 Wl T T oire 9 &

(1) emEH 3w g He (2) Wred 3 T gt
(3) WA 3% T HioT (4) UFHIRY 3% T Fis

T~ 1 R g — 11 Rt ST oK gt & e RU T $et w1 T 9 e S
T

i | = - 10
(FHTTEA) (=)
a.  TesHI potormeA i, wolfern
b.  UIA BRIEIT EEIAA il A
c. VR o iii. FTAT
d.  AFE Foif iv. FTEeE fhTen
£
a b c d
(1) i1 11 1 v
2 i 11 v
3) iv 1il 1 11
@ i v m 1

T — 1 R g - 11 gEted ST ok gt & e RU T $et w1 T 9 e S
=T

i | = - 10

(TIRETZ) (FETAT. H1T)
a. e TERES i. TAEE
b. T WR ii. use
c. 3l o wRas il U
d. 3T s iv. TAE
E T

a b c d
() i v i i
() i i i v
(3) iv i il i
4 i i i iv
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27.

28.

29.

30.

31.

32.

The boats with knots are constructed by using ‘Anjili’ wood. Traditionally these boats
were used for transportation of merchandise. Which of the following is referred to in this
statement ?

(1) Gondolas (2)  Shikaras
(3) Kettuvallams (4) Rafts

On which of the following routes, India’s first CNG powered train is being operated ?

(1) Ghaziabad — Meerut (2) Rohtak — Rewari
(3) Tonk — Jaipur (4) Lucknow — Kanpur
The Cochin Shipyard Ltd. can repair ships upto the capacity of

(1) 1,10,000 DWT (2) 1,25,000 DWT

(3) 2,50,000 DWT (4) 60,000 DWT

Match List — I with List — IT and select the correct answer using the codes given below the
lists :
List - I List — II
(Article) (Statement of Article)
a. Article -3 1. Liberty of tourist movement

b. Article — 6 ii. Rights of workers and entrepreneurs in the
tourism industry

c. Article -8 iii.  Tourism a factor of sustainable development
d. Article-9 iv. Obligations of stakeholders in tourism

development
Codes :
a b c d
(H i i v il
2) i v i ii

3 1 miv 1
4 v 1 i 1

Transportation of passenger and baggage by air is known as
(1) Air lift (2) Carriage
(3) Parcel fly (4) Fly forward

Assertion (A) : Travel agents are now reinventing themselves as consultants.

Reason (R) : The development of technology has automated many functions of travel
agent.

In the light of above which one of the following code is correct :

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.
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27.

28.

29.

30.

31.

32.

T A9 foeRT fToT ST wieher ¥ TR ST € 2R 39 TS Bl € | WERTT ®9 9 37 et
T TN TR ATAl & GeRT o [T a1 STIaT a1 | 39 e § Fefaiad § 9 g Sooig

g9

(1) Tieen (2) TR
(3) hegaeem 4) 93 W)
frfeaiad & | g AT T 9YRA ! Teetl TS, I =ieid Jore! Tt ST 38l ¢ ?
(1) iEETE - e (2) TEdP — ETEl
(3) T — SR (4) TS — FAR
i s fafiee fhamt &mar ae & STl ot A Y Tehal € ?
() 1,10,000 DWT (2) 1,25,000 DWT
(3) 2,50,000 DWT 4) 60,000 DWT
AT — 1 T GEr — 11 % 91 Gferd HieTe 3R = f§T T e 1 TFhT i g¢ Tal IR g
i | = - 10
(FT=T) (T HT HU)

a. TWI3 Q. TIH I AR G W=
b. S®E-6 il U SEN T HHHT X SAEA & ABR
c. OTWT-8 iil. UISH, Tad [oH H Uh HREH
d.  S®I9  iv. U TR H IEERE & P
£

a b c d
(H 1 il v 1l
(2) il Y 1 il
3) i 1il v 1
4 v il 1

G FRT AT SR AT & uRae i fomg A8 I ST S & 2
() TR fawe (2) HRS
(3) A WS 4) T EBRAE

AR (A) : 2T TSEH 379 3T FARHR & T H ¢ B a9 H TaRRd € |
T& (R) : TNl & faepi = Z1ael TSl & 31-eh AT ol Tmierd e GaT € |
ST &1 AT & o 1 Frefoiad § 9 i 91 Wl & 2

[ TAH

(1) (A)wd (R)SHI W& |

(2)  (A) T (R) THT T E, W(R), (A) Hl T&l A7 T8l € |

(3) (A) W g W(R) T |

(4) (A)TAE, WR)WE |
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33. Assertion (A) : The Indian Association of Tour Operators (IATO) is an apex body of

tour operators in India.

Reason (R) : On the basis of annual turnover of tour operators IATO divides tour
operators into different categories.

In the light of above which one of the following code is correct :
Codes :

(1) Both (A) and (R) are true.
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

34. Which of the following sequential itineraries is/are correct ?
(a) Honolulu — Tokyo — Vancouver — Oslo
(b) Los Angeles - Washington DC — Paris — Dubai
(c) Rio-de-Janerio — Cape Town — Mauritius — Singapore

(d) Dubai — Colombo — Singapore — Yangon

(I) None of the above are correct
(2) (b), (a), (d), (c) are correct.
(3) (a) & (d) are correct.

(4) All are correct.

35. Which statement is true ?

(1) Immigration check is done for all passengers, Indian or foreigners at the time of

arrival and departure.
(2) Immigration check is done for Indians at the time of departure.

(3) Immigration check is done for Foreigners at the time of arrival.

(4) Immigration check is done randomly.
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2
3)
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(b)
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(d)
(1)
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3)
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Tl W E |
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€]

2
3)

4
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36. Match List — I with List — II and select the correct answer using the codes given below :

List -1
(Segments)
a. Strivers
b. Pressureds
C. Achievers
d.  Adapters
Codes :
a b c
() i il i
2) i v i
3) i vl
(4) iii i ii

37. Services demonstrate :

v
ii

v

11.

1ii.
1v.

List — IT
(Group Characteristics)
Slightly older, affluent opinion-leader
Contented older people that still find newness
fun and challenging
Young people on the run

Largely women, facing economic and family
concerns that drain them

(1) High-income elasticity of demand

(2) Low-income elasticity of demand
(3) Zero-income elasticity of demand

(4)  Unit-income elasticity of demand

38. Relationship marketing always focuses on
(I) Need to win

(3) “‘We’ orientation

39. Match List — I (Segmentation Method) with List — II (Description) and select the correct

(2) ‘Me’ orientation
(4) Anonymous customer

answer by using the codes given below :

List -1
(Segmentation Method)

a Geographic
b Demographic
c. Psychographic
d Behavioural
Codes

a b c d
(H i VIS 1) B \Y
(2) iii i iv il
3) iv il i ii
4) ii i iv il

Paper-I111

List - I1
(Description)
1. Local, regional, national, international
ii.  Gender, age, income, occupation
iii.  Value, lifestyle, social class

iv. Business travellers, day, weekend tourists,
traditional vacationers
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40.

41.

42.

43.

44.

Companies may employ many types of strategies for achieving their goals. Michael Porter
has condensed them into three generic strategies. Which of the following is the set of
generic strategies suggested by him ?

(1)  Product development, Differentiation, Diversification

(2)  Overall cost leadership, Differentiation, Focus

(3) Market development, Product development, Diversification
(4) Market penetration, Diversification, Product development

Pricing strategy, as per which companies often adjust basic prices to allow for differences
in customers, products and locations, is known as

(1) Discriminatory pricing (2) Value-based pricing
(3) Going-rate pricing (4) Market-penetration pricing

To be useful, market segments must rate favourably on certain criteria. As per which
criterion, effective programs can be formulated for attracting and serving the segments ?

(1) Measurable (2)  Substantial
(3) Accessible (4) Actionable

A company needs to avoid three major market positioning errors. Some companies
discover that buyers have only a vague idea of the company or they do not really know
anything special about it. Which of the following marketing positioning errors does it refer
to ?

(1)  Over positioning (2)  Under positioning

(3) Un-focussed positioning (4) Confused positioning

Following are the lists types of community and their respective approaches. Match List — I
with List — II and select the correct answer using the codes given below the lists :

List - I List - IT
(Community Participation) (Approaches)
a Spontaneous 1. Informing
b Induced ii. Top down
c. Coercive iii.  Bottom up
d Functional iv. Passive

Codes :

a b c d
(1) i i v i
2) i i il v
3) i i v i

4) 1iv 1 i
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45.

46.

47.

48.

The Green Globe Programme as a global certification programme arose from the 1992
Agenda 21 document of the United Nations Earth Summit in Rio-de-Janeiro, has targeted
one of the following stakeholders of tourism industry

(1) Community (2) Government

(3) NGOs (4) Travel and Tourism Industry

Aspect Impact Analysis is conducted in hotels to

(1)  Understand the damages caused by pollution.

(2)  Understand the further impact that may cause to the environment by pollution.
(3)  Understand the precaution taken to prevent the environment pollution.

(4)  Understand the impact of pollution on hotel employees.

Order the sequence of global ecological footprint and the conceptualisation of growth and
sustainability as evolved between 1960 and 2010 is given as under :

(a) Limits to growth

(b)  Scarcity and growth

(c)  Our ecological footprint

(d) Towards a green economy

Find the logical sequence of the above
1 @ b © @
@ ® @ @© @
3 © @ b @
@ @ b @ (©

Assertion (A) : The cold deserts of the Himalayas could soon be dotted with the bright
red berries of the sea buck thorn plants popularly known as Leh berries.

Reason (R) : The plant has an extensive root system which can fix atmospheric
nitrogen, making it ideal for controlling soil erosion and preventing
desertification.

From the codes given below choose the correct answer.
Codes :

(1) (A) is correct, but (R) is wrong.

(2) Both (A) and (R) are correct.

(3) (A) is wrong, but (R) is correct.

(4) Both (A) and (R) are wrong.
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49.

50.

S1.

52.

53.

54.

5S.

A book that is authored by Murphy, P.E. (1985) and is widely referred to understand the
role of community in Tourism Development is titled as

(1) Tourism and Development
(2) Tourism A. Community Approach
(3) Community Participation in Tourism Planning

(4) Community Destination Management in Developing Economics

Which one of the following category of community participation, as proposed by Tosun
(1999) does not include ?

(1) Spontaneous (2) Induced
(3) Manipulative (4) Coercive

Which one of the approaches to tourism planning as identified by Getz (1987) does not

include ?
(1) Boosterism (2) Community oriented approach
(3) Physical/spatial approach (4) Ecological approach

Which one of the following is a correct method for carrying out exploratory research ?
(1)  Surveys (2) Case studies
(3) Experiments (4)  Structured design

Which statistic is not associated with cluster analysis ?
(1)  Cluster centroid (2) Dendrogam
(3) Icicle (4) Oblique rotation

Spurious correlation is

(I) A bad correlation between two variables.

(2) Very low correlation between two variables.

(3) Correlation between two variables having no causal relationship.

(4) A negative correlation

Since blood pressure of a person depends on age, we need to consider
(1) Regression equation of blood pressure on age

(2) Regression equation of age on blood pressure

(3) Both (1) and (2)

(4) Either (1) or (2)
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49.

50.

S1.

52.

53.

54.

5S.
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56.

57.

58.

59.

Two lines of regression become identical when
(1) r=1 2) r=-1
3 r=0 4 r=AorB

Match List — I with List — IT and select answer using the codes given below the lists :

List -1 List - II
(Scale) (Name of inferential statistics)
a. Nominal 1. Coefficient of variation
b.  Ordinal ii.  Factor analysis
c. Interval iii. Binomial test
d. Ratio iv. Friedman ANOVA
Codes :

a b C d

(1) 1 i iv 1

2y m v 1 1
3 1 1 v il
4) 1 1 i iv

The variation between the true value in the population of variable of interest and the
observed mean value is called as

(1) Non-sampling error (2) Random sampling error

(3) Total error (4) Non-response error

Assertion (A) : The symmetric Lambda does not make an assumption about which

variable is dependent.

Reason (R) : It measures the overall improvement when prediction is not in both

directions.
In the context of two statements, which one of the following is correct ?
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
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60. Assertion (A) : Ethical attitude helps the top management to make better decisions that
are in the interest of the public, their own employees and the company’s
own long-term well being.

Reason (R) : Respect for business ethics will force the top management to take
various aspects i.e. economic, social and ethical in making decisions.

From the following choose the correct answer.

Codes :

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

61. The concept that leaders create ‘in-groups’ and ‘out-groups’ comes under which one of
the following ?

(1)  Trait theory

(2) Leader-Member-Exchange (LMX) theory
(3) Path-goal theory

(4) None of the above

62. In grapevine network the individual communicates with only those individuals
whom he trusts.
(1) Single strand (2) Gossip
(3) Cluster (4) Probability

63. Match List — I with List — II and select the correct answer using the codes below the lists :
List -1 List - II
(Leadership style) (Description)
a. Transformational 1. It provides vision and sense of mission, instills pride,
gains respect and trust of followers.

b.  Transactional ii. It abdicates responsibilities and avoids making
decisions.

c.  Free-rein iii. It involves exchange relationship between leader and
followers.

d.  Charismatic iv. Itis based on leader’s shifting the values, beliefs and
needs of the followers.

Codes :

a b c d

(1 1 i i v

(2) iv i il i

3) ii i iv il

@ i v il ii
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60.

61.

62.

63.

afirrer (A) : G- Feredt gl o Temem ot ST, Sk @10 HHENET 3R] T e
o ST e & f&d | Seck MU o | Teradr St € |

% (R) : G - % U AR Y v ot for o o fafirT veoqent g9 anfées,
Hrrister AR - W o & o fow ey s € |

SRR &1 YA & e | teiiad § I i 91 Wel & 2

YA

(1) (A) 3T (R) 1 T & a2 (R), (A) &l Gel A &1 & |

(2) (A) 3 (R) T T&l & 21 (R), (A) ol Tel AT |

(3) (A) T E R (R) AL |

4) (A THTE, W (R) T T |

oo

Ig SEURON o Aged 3 99 (39-J) 3R ‘TR-O9e (3MSS-qo) FHHi0T el g, FHerearad
H 9 forgeh SicTd 3T & 2

() =i

(2) AgA-EER-faHuT (Ut uH ) g

(3) IS (Yg-8) TS

(4) YR H IS Tl

AT (3T GHER) Feaeh § Tsh AR shelel S SATekTal & T FalTs, oheel § 57
T T W A |

(1) & &= (W aR) (2) 93T

(3) HIEI (IF) (4) FurE

T — 1 3R G — [1 T GATeAd HioTg 3R Graai & = §T 7T i T WAHT e Fel S T
Tt -1 =t - 11
(e vietl) (feraro)

a.  UREcHeTaT i 9% gite 3R Toer 1 919 UG AT &, 76 i e 6
TAR T &, STTATGAT BT G 3T SR ST Shear
T

b. R T ji. IE SR N & 3R 0 o @ S & |

c. UF UEA (GRI-F)  iil.  THH AT 3R STl o e URER HeY IMHA ¢ |

d.  SRemE iv. TE AT gRT ST & god, faverdt 3R sravaeharei
T TZE T SR & |

(1) 1 i1 i iv
2 v w11

3) 1u 1 v il
4 1 v 1l 1
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64. Consider the following hierarchy in an organisational plan :
L Objectives
II.  Strategies
III.  Policies
IV. Procedures
The correct sequence of the above

() LIOLIV,II
(2) LI 1L IV
3) ILILIV,I
4 IV,LILII

65. Match the items in List — I with their meaning in List — 11, using the codes given below the

lists :
List - I List — IT
Job Design 1.  Expanding Job Duties
b. Job Enlargement 1i.  Organising work into tasks
C. Job Enrichment  1ii. Expanding horizontal and vertical dimensions of
a job
d.  Job Rotation iv. Changing workers among tasks without
disturbing the flow of work.
Codes :
a b c d
(1) 1 i il v

2 v 1 i 1
3 1 1 - iv

4 1 1 v il

66. Assertion (A) : The success of the internal-marketing concept depends on the top
management.

Reason (R) : Lower level employees cannot be expected to be customer conscious if
the senior management does not display the same focus.

In the context of the two statements which one of the following code is correct ?
Codes :

(1) (A) is true, but (R) is false.

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true and (R) is not the correct explanation of (A).
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64. TSTHS ASHT & FEATAREd IRMHT W foar Hifs

I X9
II. YoMid
1. #fa

IV. wfsear

UG T TEl 9 &

(1) LIOLIV,II
(2) LIL 1L IV
3 ILILIV,I
4 IV,LILII

65. Tt — I ¥ U T HsT 3R gt — 11 H ST 0 3% 371 i graar & A ST T Pt B UFT BT

e ST
= -1

IS

e

SIER{CAE]

o

£

a b
() 1 i
2) v i
3 i i
@ 1 i

Sirer festre
S FAASHE
S FANEHE

c

11
11
11

v

d
v
i
v

11

il.

1il.

iv.

= - 10
Siter et 1 faedR
fopalt shr ot Tara it § Gifed et
Sifer o &ifdsT 3R e ST 1 IR BT

1Y i TRAar | fast ugany fomr fad st o
FHRT ol T

66. IATHHAT(A) : AN [GTUUM TR i Gohetal MY FereT I 9 el € |

& (R) : et TR o HUERE | ST IS & St 3TN 8l ol ST Fehell afg e
TEe STHIERTT-HSTTAT TS T =Tl Sheat € |

IURTERT I HIAT o oW H FfeIrad § S 1 e § 2

[ AN

(=N

(1) (AT E fFg R) TE |

(2) (AT E fF(R) T T |

(3) (A) 3R (R) 3HT &l & 37 (R), (A) Tl & A E |
(4) (A) 3T (R) I Tl € 3T (R), (A) H Tl AT |
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67. A self-fulfilling prophecy in which managers’ expectations about the level of their

employees’ performance, can influence that performance is known as

)]
2
3)
4

Halo effect
Status effect
Pygmalion effect

Hello effect

68. Consider the following statements and select the correct answers :

()
(i)

(111)

(iv)
(1)
2
3)
4

At break-even point profits cease and losses begin.

Break-even analysis determines the required sales volume to generate a budgeted

amount of profit.

Excess of actual sales revenue over the break-even sales revenue is known as margin

of safety ratio.

Break-even chart is also known as cost-volume-profit graph.
Both (i) and (ii) are correct.

Both (ii) and (iv) are correct.

Both (iii) and (iv) are correct.

Both (i) and (iv) are correct.

69. Assertion (A) : Cost reduction in investment decisions are subject to less uncertainty in

comparison to the revenue-affecting investment.

Reason (R) : A firm has a better ‘feel’ for potential cost savings as it can examine

past production and cost data.

In the context of the two statements which one of the following code is correct ?

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (R) is correct but (A) is not correct.
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67. TS W-IUATY FHaoN, [T Y€l i 0 HHANET & [oeT & & g8 H S0 39
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)]
2
3)
4

ZTeTT TR (TRERT IX TTe)
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Al S
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()
(i)

(iii)

(iv)
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T
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G H STET AT E |
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I T S ST

ey
2
3)
“4)

(i) 3 (i) T LT € |
(ii) 3T (iv) T TR E |
(iii) 3 (iv) ST TET & |
(i) 3R (iv) ST WETE |

69. AHAT (A) : TToRT H AT HH XA o6 MU ol b TTiel e et et ot ot | 9

AT & T & |

a& (R) : ®H B TUIT NG S TSl S Bl § ik J8 [ Scgd 3R AN

e i ST T Fehell & |

IURTERT & AT o oW H Ffeirad § S 1 e § 2

%< :

(=N

€]
2
3)
4
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(A) 3R (R) IHT T&l € 31X (R), (A) & G&t AT E |
(A) 3R (R) 3HT Tel €, T (R), (A) I T =& &1 € |
(A) Tl &, 7] (R) T € |

(R) W&l &, g (A) T € |
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70. Match the methods of inventory valuation in List — I with their explanation in List — IT and
select the correct answer using the codes given below the lists :

List -1
a. First In First Out 1.
(FIFO)
b. Last In First Out ii.
(LIFO)
C. Base Stock Prices iii.
Method
d. Market Price Method iv.
Codes :
a b c d
(1) i v i ii
2) 1 VIS 1) B \%
3) i i i iv
@) iv i il i

List — II
Use of inventory is valued on the basis of

inverse sequence of receipts.

Inventory is consumed in chronological
logical order.

The minimum stock to be always carried is
in the nature of fixed assets and is never
realised while the business continuous.

Materials are used at the price at which they
can be replaced.

71.  Which one of the following pairs is correctly matched ?

List -1

(Methods of capital

budgeting)

Accounting Rate of i

Return

Payback Method 1i.

Net Present Value

Internal Rate of

Return

1il.

List - II
(Accept-Reject Rule)

Maximum period during which the
initial investment is recovered.
Comparison of PV of cash inflows
with PV of the net cash outflows.
Comparison of actual average rate of
return with required rate of return.
Comparison of average rate of return
with minimum required rate of return

Choose your answer from the codes given below :

Codes :
a b c d
(H i i v il
2) i i iv i
3) iv i i il
4) iv il i ii
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a
11
1
i1
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11

11
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i1

il
v
v

i

il.

1il.

iv.
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= Wi &l T 3796l IRt & €9 §
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T 1 TER 39 Hod W ot S € = o
T T Tl & |

71. TFeAfEd 9§ 9 ®F 91 379 gaferd § 2

= - 1 = - 10

(FSTTe arete T 3 ug ) (SR HR Fram)

a. AT UGN R R i Aahdd Sty T SR e
TereT Bt agett it € |

b.  UdE UBA ii. g 3TVATE & °I off T IF THG
Sgvare & di ot o T qorT

c. Y& IHH g iii, ST S Uiey i 3T T STUTRT
UfdeT i 3T F oI

d. STARS UTAT BT iv.  SHE UG i I BN A TUTETT
TTeTd i 3T o A1 qorT

frefeiad Fet o ¥ Tel IR A T

£

a b c d

(H i i iv i

() i i iv i

3) iv i i i

4) iv i i i
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72. Which one of the following is not a SEBI guideline regarding capital structure planning of

a company ?

(1)

2

3)

“4)

While there is no restriction on the kind of financial instruments, the issuer of capital
shall make adequate disclosure about the characteristics of the instrument.

A new company set up by entrepreneurs without a track record is permitted to issue
capital to public only at par.

Fully convertible debentures having a conversion period of less than 36 months
must have put and call options.

The equity capital to be subscribed should not be less than 25% of the total issue of

equity capital for amount upto I 100 crore and 20% of the issue for amounts above
% 100 crore.

73. Which one of the following is not an assumption of Modigliani and Miller (MM) positions ?

(1)
2
3)
“4)

Capital markets are imperfect.

Investors are rational.

Investors have homogenous expectations.
There is no corporate income tax.

74. Procedure for payment of dividend comprises of the following steps :

L. Shareholders’ approval

II.  Board Resolution

III. Dividend Payment

IV. Record Date

The correct sequence of the above steps :
() LI 0L 1V

(2) ILILIV,I

3 IILILLIV

4 ILLIV, I

75. Internal Rate of Return method of capital budgeting emphasis on

(a)
(b)
(©)
(d

Time Adjusted Rate of Return
Marginal Efficiency of Capital
Average Rate of Return
Accounting Rate of Return

Point out the correct methods :

€]
2
3)
4

Paper-I111

Both (a) and (b) are correct.
Both (c¢) and (d) are correct.
Both (a) and (d) are correct.
Both (a) and (c) are correct.
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